
4141

BAS-311HN/326H-403

J. / Thread trimmer mechanism

29

20

22

31

33

12

3

34

4

32

19

22

23

21

23

2

126

10 11

15
18

1716

2

27

24

30

28

51

49

65
70

72
65
71
64

64

52

71

55

48

36

37

38 39

39

35
47

41

40

42

42

46

50

44
45

38

43

56

57

53

62
61
60

58

59

68
66+ 69

63+

25

139
8

14

6 5
7

54

65
64

67

41

BAS 311HN - 326H



42

J. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

62 S00705001 1 イドウハカラ- MOVABLE KNIFE COLLAR
63+ P.73 1 コテイハFL FIXED KNIFE FL
64 062300416 6 ナベコ3X4 SCREW PAN M3X4
65 SB3847001 6 ヒラザガネチュウ3 WASHER_PLAIN_M_3
66+ P.73 1 ハリアナイタ2.2 NEEDLE HOLE PLATE 2.2
67 100360003 2 サラネジ2.38 SCREW
68 S25310101 2 サラネジ4 SCREW, FLAT M4
69 SA3538001 2 シメネジ4X8 SCREW,M4X8
70 SA6273101 1 オオカマカバ-フツクU SHUTTLE RACE COVER HOOK U
71 028030246 4 バネザガネ2-3 WASHER SPRING 2-3
72 SB0713001 1 シタイトオサエバネ BOBBIN THREAD CLAMP SPRING

BAS-311HN/326H-403

BAS 311HN - 326H



3737

BAS-341H/342H-403

J. / Thread trimmer mechanism

24

25

28

30

12

3

31

4

29

23

25

26

26

12
17

10 11

19 22

2120

2

15

27

18

16

51

36
41

54

55

35

41

37

39

34
32

44
43

43

42

40

53

50
49
48

45

46
47

38

48
49 50

33

139
8

14

6 57

52

40

38 39

63
67 66

63
68
6262

68
59
58
57

56

6964
70

65

61

63

62

60

BAS 341H - 342H



38

J. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

60 SA6596001 1 イドウハFセット MOVABLE KNIFE SET F
61 SA7944101 1 コテイハFL FIXED KNIFE FL
62 062300416 6 ナベコ3X4 SCREW PAN M3X4
63 SB3847001 6 ヒラザガネチュウ3 WASHER_PLAIN_M_3
64 SA3336101 1 ハリアナイタ2.4C0.4 NEEDLE HOLE PLATE 2.4C0.4
65 100360003 2 サラネジ2.38 SCREW
66 SB0713001 1 シタイトオサエバネ BOBBIN THREAD CLAMP SPRING
67 SA6273101 1 オオカマカバ-フツクU SHUTTLE RACE COVER HOOK U
68 028030246 4 バネザガネ2-3 WASHER SPRING 2-3
69 S25310101 2 サラネジ4 SCREW, FLAT M4
70 SA3538001 2 シメネジ4X8 SCREW,M4X8

BAS-341H/342H-403

BAS 341H - 342H



J.  / Thread trimmer mechanism

1

44

2

3
4

5

7

8

9

10

11

12

13

14

16

16

17

17
17

17

18

19

20

21

22
23

24
26

19

15

6

2

27

28

29

30

31
32

33+

45
34

34

35
36

37

38
39

40
41

42
43

25

33 BAS-341JX/342JX

BAS 342J



J. 切线装置 / Thread trimmer mechanism
参照号 零部件序号 数量 零部件名称 NAME OF PARTS RM

1 SC5542001 1 切线凸轮 THREAD TRIMMER CAM
2 012060636 2 螺钉 M6X6 SET SCREW SOCKET (FT) M6X6
3 SC5540001 1 切线凸轮曲柄 THREAD TRIMMER CAM LEVER
4 012400436 1 螺钉 M4X4 SET SCREW SOCKET (FT) M4X4
5 SB6788001 1 切线滚轮轴 COLLAR SHAFT
6 SB6787001 1 切线滚轮 COLLAR TR-TRIMMER H
7 SC5547001 2 轴位螺钉 M6X18-8 SHOULDER SCREW M6X18-8
8 021060206 1 六角螺母 M6 NUT 2 M6
9 SC5541001 1 马达座 MOTOR BRACKET
10 018061636 4 螺栓 M6X16 BOLT SOCKET M6X16
11 SB8006101 1 脉冲马达组件 PULSE MOTOR ASSY
12 018401236 4 螺栓 M4X12 BOLT SOCKET M4X12
13 SA8652001 1 动刀杠杆 D MOVING KNIFE LEVER
14 SA8654001 1 切线杆 H THREAD TRIMMER ROD H
15 SC5528001 1 切线杆 S THREAD TRIMMER ROD S
16 S32465101 2 接头组件 BALL JOINT ASSY
17 021060106 4 螺母 M6 NUT 1 M6
18 SC5529001 1 螺母 M6X12 NUT M6X12
19 S32462001 2 轴位螺钉 B M6 SHOULDER SCREW, B ;M6
20 021060306 1 六角螺母 M6 NUT 3 M6
21 018501236 1 螺栓 M5X12 BOLT SOCKET M5X12
22 028050246 1 弹簧垫圈 2-5 WASHER SPRING 2-5
23 146354002 1 垫圈 5 WASHER, PLAIN 5
24 SA8656001 1 动刀杆 MOVING KNIFE LEVER
25 SA8657001 1 动刀杆轴 SHAFT MOVING KNIFE LEVER
26 012060636 2 螺钉 M6X6 SET SCREW SOCKET (FT) M6X6
27 SC5531001 1 动刀连杆 M-KNIFE CONNECTING PLATE
28 SA4354001 1 轴位螺钉 6-1.8 SHOULDER SCREW,6-1.8
29 SC5534001 1 针板 NEEDLE PLATE
30 SA4518001 1 轴位螺钉 MOVABLE KNIFE SHOULDER SCREW
31 SC5584001 1 动刀 H MOVABLE KNIFE H
32 S00705001 1 动刀圈套 MOVABLE KNIFE COLLAR
33+ SA6397001 1 垫片 0.2 M-KNIFE SPACER T0.2
33+ SB3049001 1 垫片 0.25 M-KNIFE SPACER T0.25
33+ SA3334001 1 垫片 0.3 M-KNIFE SPACER T0.3
33+ SB0955001 1 垫片 0.35 M-KNIFE SPACER T0.35
34 062300416 4 螺钉 M3X4 SCREW PAN M3X4
35 028030246 2 弹簧垫圈 2-3 WASHER SPRING 2-3
36 SB3847001 2 平垫圈 M3 WASHER_PLAIN_M_3
37 SA6273101 1 大旋梭盖挂钩 U SHUTTLE RACE COVER HOOK U
38 SB3847001 2 平垫圈 M3 WASHER_PLAIN_M_3
39 SB7055001 1 定刀 FIXED KNIFE
40 SC0770001 1 针孔板 NEEDLE HOLE PLATE 3.0C1.5
41 100360103 2 螺钉 SCREW
42 S25310101 2 螺钉 M4 SCREW, FLAT M4
43 SA3538001 2 螺钉 M4X8 SCREW,M4X8
44 SB6838001 1 轴套 BUSH DBS0605-12F
45 SA4519001 1 轴向垫圈 THRUST WASHER

BAS-341JX/342JX 34

BAS 342J




